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l       
     . 

l      .
l      

     .
l        

 .    ,
        
(Internal Energy) .  
       
. 

l       
.     
      . 

l      . 
l        

  .       
 . 

l         
-   

l        ,
        .
     
      
  . 

l      ,   
 .       
.       
     . 

l     .  
      
       
  . 

   
1. 
2. ( .  )
3.  (    )
4. (  = 4.18 )

l     (25   )
     
- 273       
      
   ,   
 .       
  .      

K= 00c +273 
l       4 

      277 
 

l        
    ‘    ’  
    . 

l          
    .

l        4
    . 
1.    
2.    
3.   
4.  (    ) 

l         
 : 

C - 0 /100+= F-32/180 = K -
273/100 = R -0/80 

l           
   . 

l      
    .     
    .   
      
.     
    . 
   . 

l ‘      ’ 
        
.       
    .     
     . 

     : 
l          

  .     
      
  .     
 .

l        
       
   (Lower fixed point -

LFP)    .  
      
      (Upper
Fixed point -UFP) . 

     :   
       
     (LFP) 0
   . 

l        
     (UFP)
100    . LFP 
UFP     100 
  . 

       :   
       
(LFP) 32     , 
        
(UFP) 212       
 . 

l LFP  UFP     180
     . 

  
     :     

        
        
    . 

l    95    
 110     
. 

     :     
         
    . 

l     -130  
  75    
      .

-  ,     :   
 -         
        

       
  ,     
     ‘   ’
. 

    (Magnetic

Thermo meter):    
      = - 273 
 /O0K      
  . 

     :     
       
      . 

  :        
       . 

l       
 1800   

     /    :  
   (  )   
6000   .   
      /  
      .  

   :        
      . 

 :      
       
.  

    :   
       

         
0.025      
  . 

    :   
   .  , 
     . 
          . 

l        
    
     : 

   :     
    
    .  

 :       .
, , ,   
      
       

    :      
        
.   . 

 :     . 
 ,      
  

 : (Thermal conduction)

l       actual

movement of the particles

       
  . 

 : Solid substance and Liquid

state mercury (Hg) 

   (Thermal Convection) : 

l  ()     
        
    . 

:     (    
),      
     . 

   (Thermal radiation): 

l       
      .

l        
 (Vaccum),    
 . 

 ..  ,  


l          
       
       
  .

   : 4    
     . 
     
     . 

    
l      

.    0 
       
   .   0 
 4     
       . 
      
 . 

l    4    
    . 

l         
        
.         
‘  ’    . 

    : 
1.         

      .  
       
     ‘     ’
       
     .

   
l        

     4  
 ,    0 
     . 

2.          
      
        
.        

 ‘   ’  
    .  
(H2O + C2H5 OH)

3.         
.      
    .

4.        
        
   .   
      . 

5.         
      
 . 

l      
      
      
.       
     
  . 

     

  

    

 II 


